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1. Introduction: 
For the parallel receptions, at RAN2#65, it was commented that the table 8.2-1 and 8.2-2 reflects the number of PDCCH’s/RNTI’s the UE has to be able to receive, and not the number of TB’s. Thus, it is ambiguous how many TB’s the UE has to be able to receive in parallel. In this document, we would like clarify on this issue. 
2. Discussion

The following alternatives can be applied to the number of TBs to be received in parallel. 

· Alternative_1: Follow the table 8.2-1 and 8.2-2

· Combination_1: 3 TBs (1 for A, 1 for B, and 1 for C)

· Combination_2: 4 TBs (1 for A, 1 for B, and 2 for D)

· Combination_3: 5 TBs (1 for A, 1 for B, 1 for C, and 2 for D)

NOTE1: Combination_3 is mandatory for ETWS UEs, but optional for all other UEs

NOTE2: 2 for “D” considering MIMO operation

· Alternative_2: The number of TBs on PDSCH is up to 2 based on 6.2.1 and allow prioritization on receiving TBs
· Combination_1: 3 TBs (1 for A, 1 for B, and 1 for C)

· Combination_2: 3 TBs (1 for A, either 1 for B or 2 for D)

· Combination_3: 3 TBs (1 for A, either (1 for B and/or 1 for C) or 2 for D)

NOTE3: We assume the reason why “up to 2” in 6.2.1 was originally from MIMO operation not from the consideration of the parallel receptions specified in the table 8.2-1 and 8.2-2. 

· Alternative_3: The number of TBs on PDSCH is up to 3 and allow prioritization on receiving TBs

· Combination_1: 3 TBs (1 for A, 1 for B, and 1 for C)

· Combination_2: 4 TBs (1 for A, 1 for B, and 2 for D)

· Combination_3: 4 TBs (1 for A, either 1 for B or 1 for C, and 2 for D)

There would be trade-off as follow: 

	
	Parallel receptions
	UE Complexity

	Alternative_1
	Always guaranteed
	High

	Alternative_2
	Limited (especially when the UE is in MIMO operation)
	Low

	Alternative_3
	Most of cases
	Medium


Based on the above, RAN2 is requested to clarify the number of TBs the UE has to be able to receive in parallel. From our view, we would like to avoid Alternative_1 due to the high UE complexity. 
3. Conclusion

Based on the above, RAN2 is requested to clarify the number of TBs the UE has to be able to receive in parallel. From our view, we would like to avoid Alternative_1 due to the high UE complexity. 
· Alternative_1: Follow the table 8.2-1 and 8.2-2

· Alternative_2: The number of TBs on PDSCH is up to 2 and allow prioritization on receiving TBs 

· Alternative_3: The number of TBs on PDSCH is up to 3 and allow prioritization on receiving TBs

In addition, if needed, we are happy to prepare the corresponding CR for 36.302. 

































